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AH™ET| 1,2517| Z+kzt 16Y « 966,000
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st AH| 231,106,000 62,592,000 293,698,000 243,282,000 50,416,000
el etg 30,000,000 30,000,000 15,000,000 15,000,000 | RO moEeta
WLy Esta 213,466,000 213,466,000 193,050,000 20,416,000 [stB|ZH
A A EH| - 8,592,000 8,592,000 2,592,000 6,000,000 [432,000*5%*23]
EE2AALR 15,500,000 15,500,000 15,500,000 - [=2MAHH X H23
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Fob7| EFXFALR| & - - - - -
A= NSNS - - - - -
AXE S IR E - - - -
Qle|7|Z28E - - - - -
HEI|SHE - - - -
7|EP| 25X E - - -
D™ ROl x| & 19,000,000 - 19,000,000 16,050,000 2,950,000
SRR E 19,000,000 - 19,000,000 16,050,000 2,950,000
ESPETE= R 15,000,000 - 15,000,000 12,050,000 2,950,000 [Sw B+ 2tojMiA 19l 150,00080%207) 2|
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